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1. (ride down the nezocﬁon of the ﬁotlomn% stotements:
&) ¥YeSo , 620, |x-1<s = |K-1|<¢E.
b) ¥eyo , ¥xeR, Tnez, [x-n|< &
€) Let o« be on imabional number, i-e. te R\ @ -
VYeyo, YxeR , ImneZ, |x—m-nx|<E&.
) YaeZ, ¥ beZ”, ther & a unigue

poir Cd} ) of infe%ers such that

a=bar+r and o<r<b.
(Hou are Y\a‘L‘ auawe.cl 'lZ) Use ﬂ \

2.0 Prove or chs?rbve,: =3 xeR ,Vne‘R, 8z> 9015 4«

b) Brove or olfscpmve: dxekR, Vge R, %3> 2015 +%

@—3 Pove or Ais?mve: Yeyo ,ElNeZ)o, nzN =%if‘°L<€.

(For *Par{ (e, You are ollowed o use the -?oﬂocoina-.
YaxeR, IneZ, xa<n-)

3 Boe et lim xS =3
X—» 2
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